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Suppose X = O with probability /4, X="T"wWiti
What 1s the moment generating function of X?
/4 + 3¢'/4 D. 1/2 +3c¢™/4. C. 1/4+ 2¢' + 3¢'/4. d. 1/4 + €2 + ¢*/4. C. None of the above.

-

2. What is the probability that you will have a straight flush on the turn?
(Hint: be careful not doublecount outcomes like the case where you have 10® 89 and the board 1s

SV 69 /9 O9)

4. 0.000874%. b, 0.000906%. ¢ 0.000974%. d.0.000991%. ¢. None of the above.

3. Suppose you play 400,000 hands, and X is the number of those hands where you have a
straight flush on the turn. What is the expected value of X?

a. 0.0912. b. 0.906. (C.B.62. d. 7.84. ¢. None of the above.

4. Sup_pose X and Y are bivariate normal with mean O and vanance 1, and cov(X,Y) = 0.4. < 0 *y\
What is cov(5X+Y, 4X-Y)? (ou - C(fx" T) (r(,g-;r) - {

a. -44. b.48 (;_G 18.6. d. 223 e. None of the above.

&

(ov( 5<*Y)

.(\S. Whal 1S the probability that you will have a flush or straight flush on the nver?

1
|
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[t a. 1.02%. b. 2.04%. . = DDT0, d. 3.06%. e. None of the above. f )
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\ 6. ;1_01 A be the number of hands until the 5th time vou have a flush or straight flush on the nver.

“What i1s the SD of X?

a. 553. D. 62.3. c.71.9. 02.5. e. None of the above.
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7. Out of 10 players in a given hand, what 1s the expected number of players who are dealt al

least one ace”
(2. 1.49 D 22D 2550 A2 ¢. None ol the above.
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R I.et A be the event that your hole cards consist of a King and a queen, and let B be the evenl
H‘l;II D :Ih Vour hHIL' L‘JI’L[H Al C diflerent Co '-|Hl‘--_ 1.C. OINC IS red .‘.u‘{d the tht_"l' \S b\ugk_ ArC }\ ,_u-\d B

independent? |
[ ¢ b) Yes. c. Cannol be determined from the uﬂu;‘mulmn ZIVEN.
j\“L o, :

YO You have 104 104, your opponent has K& KV and U
(rn is 5%, you bet $20, and youroppons
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CXLIWO problems, let X = N(0, 0.5%). Let e =
let ) E'-"ii"|_\\*é,

3

IN(0, 0.37) where ¢ is independent of X
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1 () b 1) 4 () - : b, :
- 1 N D 4 c. 10.3. d.10+.1 X+03. e. None ol the above.
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PRl Oone Of Yoy
=or the next three problems. let X be the total number of face cards (K, Q, or 1) you have in yous

i i- ' | - - :
hole cards, and let Y be the number ol Spades you have in your hole cards. Thus X could be O_ 1\

or2.and Ycouldalsobe O.1.or2. let7Z = XY

= % { q;_'}-f;..
l::h'_-}__."# 3 = 6 - —

13. Whati1s E(X)7?
a. 0.213. _b. 0.462. c0).6 7] d. 1.00. ¢. None of the above. i

14. What i1s E(Z)?
asl): 123, b. O.175. c. 0.199. d..0. 2318 @N{_‘}nc of the above.

15. What 1s cov(X,Y)?
s 0.0 Ci0:332. d. 0.204.
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